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c_dﬂldﬁ):C/’u’L‘Lu?/ b 2x 7‘; =cos? fé@flﬁ’»‘.é; t=u(x)=x
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éd!"dff:i@/
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dx dt dx
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(Derivatives of implicit functions) gwies S esdlelis e 532

S e e S n3PE e Lot FS v -0 S2 P B S
syt bl S und i p S 2 O

¥y -m=0
X+ sinxy — y =0
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-éc’)&u %?ﬂqﬁ siny = cosx/ff 25 Jl.}‘
x

ﬁ.uj&/&/@)&y K}ﬁ/Lﬂézﬁ;/x r’z Ja
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_.Jlogbpq:aéut-§./lKJI{,,/J"EZ“_!MW*%JJ/»JU’DJJ (2)
s ug ‘Lby=qulbﬁ=p s c‘alongZY/}llOng:B /'/l_‘gbazpq

b" = pg = b'HY =pP"Y
ﬁazﬁﬂ(‘awcgf}'
log, pg =log,p+log,q

e Pl A s A A p = g S S s P61

log, p° =log, p+log, p=2log p
PR (PRVGTY I3y qO ) 1Y/ g
log, # = log, p
S St fefoe Bl LnwFHS it P L Lnuleidis”
e e LA ey LSS b1 L g ST
log, = = log, x —log, ¥
y

e & x-enr Y Lo Er 28 JB

2020-21



GG 193
el e e o Fa i 3N el
Q)mﬁujszu%@ﬂtcay > O/G_‘L y = ¢ler féutg'_‘auffwuééﬂm&b
eidxarr=e" L oy =xU AU logy = log(e™) = log x.loge = logx <

-‘guu“iéwjﬁ
it ie Ol S e e I it § S e 35
G LI el P
5
%(a):ex‘g%‘%eq}“%eu;wv@ (1)

RS

. 1
i(log x)= ! ﬁca - J"'Klogxf_:frbfd/x )
dx X Lox
_é&p)u"}jﬁj:}corbﬁd/x 29()&‘

& (iv) cos ' (&) (1i1) sin (log x), x > 0 (ii) e (i)

JS

-Lauggm‘anz./dt&l(dﬂ!dj:}-‘a y=e* éut (i)

B 4o
dx -¢ dx( *) ¢
_‘au’g;m’;na“_/[)bv“wt{d/ld/éj-‘ay = sin (1ogx)§ut (ii)

Q =cos (log x)- i (logx) = M
dx dx
e Ul nZ SIS A y =cos (@) Sl i)

d -1 d,,
_yz—z._(e )= -
dx - \J1-(e")? & 1-e*

e Ul an SIS A v =6 E el ()

P_ e (—sinx)=—(sinx) e

dx

COosx

2020-21



194 L

A

547

_“ér)b"u"/ggj:)écfrl?&x

X

1. € 2. ' 3 et
sin x
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X

8. (sinx)* +sin™ Jx
2

10 xXCOSX + X + 1

x2=1

Bl e
_“ér}"‘d—zb/u’guﬁuw‘&ndnsmz
13. V' =x"

15. xy=e*?

LAUIIE o FHK F0=(r0) () (40 () HP s 2y s

EASIPNA)

;“ér,bfg;if_u,a}ufga,ég (x*=5x+8) (x> +7x+9) _17

L1013 A )
SIS L8 S W
LS5 P8 i
Sz UL
,J/Lu?./"cujuf/@i:x:wm:wu/;l -18
d

du dv W
—(Uv.w)y=— v.wH+u.—w+uv—
dx dx dx dx

-L/UW’"’KJ/T 3@’/»://1/;)10}‘!(}/%4;()}@/»

2020-21



P 199

FLSEAS IR z5.6

Ut Al e G Ui Same Cr B Pl
}:‘l;d}f’z_/ﬁ}%yuiu],;ulfugjd/ﬂ:utauuécful-%t/fGﬁﬁugij
Ut LIPS g (1) rrp 0 ey st e B bt i 20
—e Rp L te Y F R p2

_uga"_/(#?_dﬂld }J(nuﬁ S L/()’”/ Bs Lfcui‘ Fs

& _d e
dtdx dt
dy
dy dt(dx 0 ﬁj
bax dt
dt
ﬂ:w (j}’ @: ' @: P )
dx  f'(2) dt g dt 'O | 17020 £1

P dy .
~%y=a sin 03lx=a cos@ﬂ:é&g/; 534‘)@‘

bl

X =a cos 0,y =asin0
dy
— =asin0, —=a cos O
Au‘! do
dy
dv 4o  acos®

C)J’ 5_5_—%&16
do

y=2atnlx= at/ib«&t/) 3SJV

=—cot0

x=at’cy= 2at'y¢‘pdp

2020-21



200

Y

d d
& —);=2af &

dt dl
dy
dy_E_2a_l
de  dx 2ar ¢ Lui
dt

P dy .
sy=a(l-cos 0).x = a (0+sin 9)/'/"“5 =5 x 36J s

dx dy :
%: a(l+cos0), 20 =a (sinB) Léu’ggjlndy
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Y
e y=x+tan x‘meJ’

—y=3x2 +sec’ x
dx

d
_iu’l = (3x% +sec’ x)
dx
=6x+2 sec x.secxtan x=6x+2 sec’ x tanx

2 z &
< %4_), - O/“éu:/:b.'b.}.‘}fy = Asinx +B cosx//'39dl7"
x

LLJ&;JVZJW

QZA cosx—B sinx
dx

2
%u’l% = % (A cos x — B sin x)
=—Asinx — B cosx =—y

d2
éu’l;f-#yzo

7 ) 7 &
j’ ? - 5% +6y =0 SZE sk v =36 + 267 S0
i ¢ ‘

< y= 3™ +2e” ‘Q”Lfg;di

D 662 1+ 66 =6 (e +¢&™)
dx

2
4w%=12eh +186™ =6 (2™ +3¢™)
%

d} d 2x 3x
-5 =+ 6y=6(2e" +3e
o o ( )

-30 (e2~‘ +e)+6 (3™ +2e7)=0

(Ix 2)ﬂ— =0 2y y=sin"x fa1 e
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Y= sin”! x‘au’&g_/hf

a_ 1
de 1 -x?)
" \/(1—x2)@:1
- dx
i i( (1—x2).d—y]=0
dx

Lo ‘j,y L. L i=) =0
/7 2x
b cbc2 _E 21— %2

o dy
C}J' ( X)dxz xdx

e Ulesay=sin" x LL’%&)/?/}LJ}Q
1
— 2) 2:1 .“yl:7
d U’) V1-x*

St (1=x7). 200, + y1(0-2x)=0

L) y—xy, = 0

=0

°*

5.7
“é:).l,uJ&ngf}'d/»ziui@;ni.)ufupf 1061

X2 +3x+2 2. x* 3. x. cosx
log x 5. x° logx 6. € sin 5x
e™ cos 3x 8. tan' x 9. log (log x)

10. sin (log x)

d’ . _
<~ dxi}er:O»J/éca:E’!"ﬂ y=5cosx -3 sinx /1 11
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2
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x

-< Xy, +xy, +y=0 f’“alé;‘ay =3 cos (logx) + 4 sin (logx)//‘ ~-13
d’ d , e
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& Q'MJ,L’»UB;Q»W: pa5d f=x 2Ea3
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e
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() VI¥+I4 N (i) €*“*+3cos ' x (i) log, (log x)

oS

) ' ! 1
(i) Lety =¥3¥+2+ [202 4 = (Bx+2)2+(2x* +4) 2

P 2 P N (1) .
LWy > e g S,

dy 1 g [ 1) , o ald
O ERNNLATE VD Lo (LR [ S e e
, 2( ) x(l ) 2(* ) E(A )

1 3
=l(3x+2) 2 -(3)—(1](2.1:2 +4) 2 -4x
2 2
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3
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z 2 S .
e Wk S-Sl Bl
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L e ok (11110} e Efr
1
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2
=5 (2secxi (secx)j+3 .
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sec’ x d 2
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:2secz_rtanxe“°:"+3(— 1 J
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éd"(iii)
y=log7 (log x) = W({i&)ﬁ@&ﬂ/o
og :

LUl k@kgvv'ﬁ@f’?ﬁdi@

dy 1 d
—=———(log (lo
& 1nglx( g (logx))
_ 11 -i(logx)
log7 logx dx
B 1
xlog7 logx

SEO IS e er e a5

. x+1

(i) cos (sin x) (i) tan_l(ljélozxj (i) Sm_l[liﬁ)

e Vel Lo Er 0SS vy =05 sn 0 Zoho )
R E I S

£(x)=cos ' (sin x)
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2
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2 sin(xj cos(xj
=tan”' 2 2
2cos’ X
2
=tan"'| tan (fﬂ _X
L 2 2

-ung_aK/ cos (%) uﬁui»&)ﬂwﬁ?ﬁf“éof&%w
x+1
2 e < 1[3‘9:«/)/’6/L/(()1’”xﬂ7uﬁ

1+
- J/"/?w &""7.,“64 J“’G“i Ji-< c//)“iz:x(l}’}?_2 S% +2x _ugém”/
- ﬁ@ﬂ@}u’h;@»{f@;ﬂ%éj 2x=tan 0

- 2x+1:|
f(x)=sin L+4x

._{ 2%.2 }
=Sin 3
1+(2x)

. _1{ 2tan 0 }
=sin >
1+tan” 0

=sin”' [sin 20]

=20=2 tan ' (2x)

1 d
f(0)=2——(29)
C}J' 1+(2x)2 dx

UAS s A 20l 4 x5

2
= <(2%)log2
1+4"( log

_2""'og2
1+4*

gj.c£<x <nrb7§. f(x)=(sin x)™* ﬁé&&/@f’(x) 46JC‘-’
“Lu’gz_Jlﬁ/?éﬂ._fuKJ)’U]»-‘L"L-KQ/U.QQJ.LJ',W’{Q(V x=(sin x)™" u"‘adi
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dy

X

Y

log y = log(sin x)™™ =sin xlog(sin x)

lﬂ=— (sin x log (sin x))

y dx dx
= cos x log (sinx)+sin x .
= cos x log (sin x)+cos x
= (1 + log (sinx)) cosx

y((1+log(sin x))cos x) = (1+log(sin x)) (sin x)*"* cos x C}u‘!

dy T . &
Uil oo e LafFmian )

= ol x=|t+—
y=a ' !

4/)’_5uug géﬁuyéﬁt # Odﬁg?vnx/ﬂyuj»f“év#@f‘dp

b _d ,u)_af+%1(,+1].10 ,
dr dr a4’ dt t g
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Missing Translation

du 2sinxcosx  2cosx

COsXx COs X

dv  —sinxe e

&VJ/}J{SvL

_E e e K F 111

(3x*>-9x +5)° 2. sin® x+cos®x
(Sx)3cos2x 4. Sinfl(x \/;), 0<x <1
cos™ >

2 2<x<2

N2x+7

,1 {\/Hsinx ++/1—sinx
cot : _
\/1+smx —\/l—smx

},,0<x<

(log x)*&* x> 1

ééb/}’aﬁpf;cos (a cosx +bsinx) -8

(sin x—cos x) CmETs V)

T
, —<xX<—
4 4

L Lx>0mla oA e a +a

L3 1 (x-3)"

J &£ y=12 (1-cos 1), x=10(r—sin t),—§<t<gﬁ‘§{¢)£,,%
y=sin" xtsinV1—x* ~1< xsl/ﬁ:é&kn%
Jié&:b"?récﬁ:— 1<x< 1<,§.xm+ym=0/ﬁ

¢ > 0(x—a)* +(y=b)* =¢

dy 1

E_ (1+x)2
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dy  cos’(a+ 4
d_y = M :éu'f,l:“cos a+ =+ IU:Jarcosy =X cos (@ -i-y),//l
X Simma

d’y . -
= f Yy =a(sint—tcost)sslx =a (cost +1sin t)//'
x

‘.“éc.')&/)

—Z e nled Lol FErlesarrionSebe f)=xP A

d n n— PO . <
)= 14£n;lﬁl§wrufé¢4e&/dwdﬂuKuu&fg/
“Aicosines:‘LJ}E}’(SinA+ B)=sin A cos B+ cos A sin BL/'UW’ K&}::‘;}Jf
-“é =y Karh
ol in e UL Ppn A e S e ne sty
y S'(x) g'x) h(x) f(x) g(x) h(x)
E: / m n J/é;v;l:‘;m'y: / m n /;’,
a b c a b c
2 dzy dy 2 - acos'x 9
-L(l—x )—2—x——a J/ZOJIL\A;}’iLISxSI:y:e //’
¢ dx dx - °
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L B8PS, B S S e P 5t 5w 5 3P
e S S S e L
e P e Gl SIS
-‘Luﬂé JJ/ gﬂ'f/@%
(Feg) 6)=1(x) +.20x) is continuous,
(£.8) ) =(5) .0 s continuous.
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(x
LJJ/ g(x) = 0J\Z [ )( )= f( ; (wherever g(x) # 0) is continuous.

d dt
dv m—um/w fevour=uw e t/37 628 g ae Ut IS o
ARy
& _a d
dx  dt dx
(ui‘u}wgz?_i)ugéf{_;‘f*"”d/yxi:uﬁds .
d( in~' x) 1 d( L) 1
—isin " x)= —lcos x)=-
dx 1— ¢° d J1— x?
d 1 d -1
“{tan " x) = —— Lot x) = ——
dx . 1+ x° dx ot 1+ x
: -1
—(sec_' _r) = ; —(cosec" x) = —_—
dx el = x° X 2l =3
d . d 1
el (e ) D H (1ooSYE =
dx(e J=e a’x( 0gx) p

Ul - 3 b S LGP B L& SGF6AEL RS ro=tmeor™
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e f@=1OLAT e 22 3P b sie b fla bifla b >R A o
70 = 0L LS bn (a, byos
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